Question-4

Number of t ; i i
umber of correc Blies e <L Question-2 Question-3
answers

Total Score (0 -
100)

x
o m [ = e e W= Y ='a R W~ N~ N ='a R W~ W~ W ='a = Gl e W~ O ='a ' e N~ R W' I = R I ='a e I~ Y ='a '] BBDBBM
~
x
<< < D CCCCODOCACCLCNCCCCCCLC N LCLC DO LCLCLCCO ICI AAAACM
~
%
[ala) [=a = == IS RS S G G QiY== - IS i Wi W Y Y S ' ' S ' S == TS ' en TS S ' i S - < <O 0 alE
~
X
oo onoLvVvUVUNoONQNOLVUVUOAOLVOO<ULVUAVLVDLLLVLLVLLULUOOLVLUICAO O CCDDCW
N
N
23022433113431222223433424121341240331233
o
X
olun|g|a|e|8|u|wv|uwn|v[8|u|n|alo|a|a|a|uv(8|vn|w|S|e(8|rv|a|u(wn|8vn|a|8|o|w|w|wv(a|w]a
|~ Do |G INNN[N[NEGIN|N|B A (A [B [B NG |IN NS |S|N|D NN SN |D|S NN RN P
N
RIN[OM(V|IONIL|H|[AHAIN|[H|IS|IN|IOIMIDIN|D[(ADN|THOIN|O|H[(V|D[(OIN[(V|H[(TFT NI |H[V|R[T ||
R[o|d|aN|e|n|o|o|d|ola|g(N|a|o|o|(|o|d|d|[m|o|@|o|[d|d|ad|m|v|o|d|v|R|[d K|S |m|o|<
—A OO |([OIM|[H|OV|H[N|OlO|N[OIINI|[O|IN|[H|N|I O |IN|ONM[O|H[O|O([OWM[T | N[O [N ||




